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Question 1
Question Type: MultipleChoice

Which of the following statements best summarizes what happens when executing an advanced search that filters on the Policy Owner

field using the ''Current User'' filter?

Options: 
A) The search results will contain only records that include the text 'Current User.'

B) The search results will be sorted based on the values included in the Policy Owner field.

C) The search results will contain only records that include the text ''Policy Owner'' in the Description field.

D) The search results will contain only the records where the user who runs the search is listed in the Policy Owner field.

Answer: 
D

Question 2
Question Type: MultipleChoice



If a group is associated with an access role and the group contains sub-groups, how will the associated access role affect the sub-

groups?

Options: 
A) The sub-groups will be inactivated.

B) The sub-groups will be removed from the group.

C) The sub-groups will be associated with the access role.

D) The sub-groups will not be associated with the access role.

Answer: 
D

Question 3
Question Type: MultipleChoice

Which of the following statements best summarizes what happens when executing an advanced search that filters on the Policy Owner

field using the ''Current User'' filter?



Options: 
A) The search results will contain only records that include the text 'Current User.'

B) The search results will be sorted based on the values included in the Policy Owner field.

C) The search results will contain only records that include the text ''Policy Owner'' in the Description field.

D) The search results will contain only the records where the user who runs the search is listed in the Policy Owner field.

Answer: 
D

Question 4
Question Type: MultipleChoice

If a group is associated with an access role and the group contains sub-groups, how will the associated access role affect the sub-

groups?

Options: 
A) The sub-groups will be inactivated.



B) The sub-groups will be removed from the group.

C) The sub-groups will be associated with the access role.

D) The sub-groups will not be associated with the access role.

Answer: 
D
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